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A & 0l & AF 2 E A A
20179 & =S0lah LB &
M DSALED
g =4 datd unsMA 2=
Sl WSHA HE AL (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
WS A& Dt 1,309,161 9,984,879 A8,675,718
=M XY DSHAH A5 1,199,500 515,000 684,500
WEMA KL A 495,720 340,000 155,720
HeloIES7 29U uitz £elil X 195,000 30,000 165,000
401 Al HIZ 2018 195,000 30,000 165,000
01 Al& gl 195,000 30,000 165,000
OeolEs 29U UXZ 22/0l XA
15,000,000 * 130 £ 195,000
22 B o™ Sd CHHAIAE &AX 20,000 0 20,000
401 Al HIZ 201 Y] 20,000 0 20,000
01 A&l 20,000 0 20,000
Ogd:ss 2dI o™ 4 AUHAIAY &X
20,000,000 14 & 20,000
20 =S8 W stuF=H JHL ALY 200,000 0 200,000
401 A& HIZ 201 Y| 200,000 0 200,000
01 Al tl 200,000 0 200,000
Od0I=SsW stwazEd NSNS A
200,000, 000& 200,000
AsSHAHE DSHE A 80,720 0 80,720
401 AIEHI L 20HEI 80,720 0 80,720
01 Al 80,000 0 80,000
O&sAHE WSHEAMS 80,000,000& 80,000
03 A& =2 THHI 720 0 720
O&sAHel WSIHAAE 80,000,000 *0.9% 720
WEASI XA 703,780 50,000 653,780
DEASHA J=2d 49 100,000 50,000 50,000
401 AIEHI L 2CHYI 100,000 50,000 50,000
01 A& HI 100,000 50,000 50,000
OusAsHIA J&e228Y 100,000, 000& 100,000
FeEz MsTtssE AIAE &1 603,780 0 603,780
401 AIEHI L 20 603,780 0 603,780
01 A& Bl 600,000 0 600,000
OFREZ MSAss AIAE &X
600,000,000 600,000
03 Al 204 3,780 0 3,780
FRE2 MSHSE AIAE &X
600,000,000& *0.63% 3,780
Helgt 22 62,621 0 62,621
FEae 62,621 0 62,621
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X ZH -
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N-Z33.22(3H) - H2AY - BES Ol &F o4 %Ei Hwsz
A | 62,621 0 62,621
201 L2yl 10,181 0 10,181
02 Tzl 10,181 0 10,181
ORHNZZE HII23 8,963
—Jl= 6, 160! *93kw+ 122 6,875
— AR 12021 *58kwx5 Al 2+ +603] 2,088
ORHNZZE FIIGHBRNBL42
101,4202 *122 1,218
203 R = b 1,900 0 1,900
R E RS 1,900 0 1,900
OAQIEOE ZXBIE A8 22 XX
1,900,000% 1,900
401 A& HIZL 2O 50,540 0 50,540
01 Al& I 50,000 0 50,000
OFZANEE RX 22l 50,000,000& 50,000
03 Al = Ch bl 540 0 540
OZEAEES SXB2IH 50,000,000 *1.08% 540
YHSAAH(RSALD) 47,040 52,080 A5,040
=L 47,040 52,080 A5,040
=2l 47,040 52,080 A5,040
201 L2yl 18,360 20,520 ~2,160
01 AL 22l 18,360 20,520 A2,160
SEVEL-BIEET 18,360
— ALY 40,0002 178 x 122 8,160
— 2l 50,0002 172 122 10,200
202 01 bl 24,480 27,360 ~2,880
01 2UH 01 bl 24,480 27,360 ~2,880
SEEESBIETT 120,0008 %172 * 122 24,480
203 YR = b 4,200 4,200 0
04 ENRHALE Y| 4,200 4,200 0
CEVEL-TEESN 350,0002! 122 4,200
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